EEBHRAVE—SF IR

(BE=HE]

EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

BT (%) (1000MVANR—X)

HEE#No. EE kV) EERLA X R (%) X (%) Y/2 (%) S
EE#500kV 1 500 JIRHRIL L\ = BIEARR # U\ = BIEARR 0.127 | 3.203 | 1.632 [IL. L= @EEMR
E 5500V 1 500 JIIA#R2L ALV = BRI b = BB 0.127 | 3.203 | 1.632 [n

FEE#500kV 2 500 MLVHhERRIL RBRELEM &LV = BARART 0.448 | 19.693 | 10.9875 |1L, 2L&#tA:ERA
FE#500kV 2 500 LV E 8 R2L HEELER LV = BT 0.448 | 19.693 | 10.9875 |

EF7500kV 4 500 BERR L) IL FEEEER 5L\ = BARAR 0.263 | 3.76 | 1.682 |IL. 2L=4:FAER
EEF500kV 4 500 BEER (L) 2L FEBLER L\ = BARAAT 0.263 | 3.76 | 1.682 |u

EF500kV 5 500 BEERSHE Q) IL HEELEEM #vh =BT 0. 261 3.723 | 1.6725 |1L. 2L #tFA:EH
FEF#500kV 5 500 BERSHE 2L HEELEEMR #Uvh = BARART 0. 261 3.723 | 1.6725 |n

FEF#500kV 6 500 FLbhEHRIL # b = BRI #S BT 0.457 | 11.586 | 5.9155 |1L. 2L&#A:ERA
FEF#500kV 6 500 b EigoL # v =BT #4 mBAEART 0.457 | 11.586 | 5.9155 |n

EEF500kV 7 500 BEHE () IL #Uvh = BARART HEARLEER 0.706 | 10.08 | 4.509 |IL. 2L%#tFA:EH
EF5H00kV 7 500 BEHEZ )L # v =BT HEAREERR 0.706 | 10.08 | 4.509 |»

EF500kV 8 500 EERSKE)IL #Uvh = BARART HRREER 0.916 | 15.311 | 7.136 |IL. 2L #A:EH
FF#500kV 8 500 EERSK(E)L #Uvh = BARART HPURE B 0.916 | 15.311 | 7.136 |~

EE500kV 10 500 P ARRIL HEAREERR HIRALEER 0.113 | 2.842 | 1.5265 |IL. 2L%#tFA:EH
EE#500kV 10 500 FE AL HEAREERR HMAREERR 0.113 | 2.842 | 1.5265 |n

E&#500kV 16 500 EERR(E)IL HEAREER e EER 0.483 | 6.659 | 2.9975 |IL. 2L&#tA:ERA
E5500kV 16 500 REHEE)L HEAREER e EER 0.483 6.659 | 2.9975 |#

EEr500kV 17 500 hif AR 1L AL BT 4 HBAEART 0.032 | 1.074 | 0.692 |IL. 2L%GFERA
EEr500kV 17 500 i A fR2L HMAEERR 4 HBAEART 0.032 | 1.074 | 0.692 |»

E&#500kV 18 500 FRAR#RIL AL BT HeTHEEERR 0.22 6.852 | 4.829 |IL. 2L&4HF:ER
E&#500kV 18 500 i A #R2L HmAEERR HETALEERR 0.22 6.852 | 4.829 |u

EEr500kV 25 500 w4 SHERIL HiEREERR HAREZEEM 0.3385 | 8.4827 | 4.2529 |IL. 2L&#tFA:EMA
E 5500V 25 500 it o EAR2L HEREER HAEREEM 0.3385 | 8.4827 | 4.2529 |n

E8#500kV 37 500 REIMRIL HRELER EREER 0.316 | 4.519 | 2.003 |IL. 2LZ=HFAER
E#500kV 37 500 EisgoL HRELERR EHREER 0.316 | 4.519 | 2.003 |~

E & 500kV 38 500 ENfE#R 1L HiEREERR HRELER 0.246 | 4.679 | 2.329 |IL. 2LZ&#AERA
E5500kV 38 500 ENFE#R2L HEREERR HRELEER 0.246 | 4.679 | 2.329 |n
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EBRSAVE—HFUR B4 (%) (1000MVAR—X)

(BEZFIE]
EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

EE#No. EE KV EERB X fal R (%) X () Y/2(%) " %=
EE500kV 46 500 HERRIL kR EER HRREERN 0.285 7.14 3.5815 [IL. 2Lz 6tFER
EE500kV 46 500 ik R HR2L kR EER HRRE B 0.285 1.14 3.5815 |[n
EE500kV 47 500 R EMRIL o AL ER (5I5) BT IR ERR 0.173 2. 481 1.1 |IL. 2L 6tRER
EE500kV 47 500 R ML o AL ER (52I5) BT IR AR 0.173 2. 481 1.1 |n»

EE500kV 47 500 R EMRIL HRELEM (52I5) BT IR AR 0.18 2.696 | 1.2175 |IL. 2L%GtRER
EE500kV 47 500 R MR HRELER (5I5) BT IR ERR 0.18 2.696 | 1.2175 |n
EE500kV 48 500 HGURRRIL oA EER HRREERN 0.044 0.993 | 0.5095 |IL. 2L%GtRER
EE500kV 48 500 HFURRR2L o AL ER HRRE BN 0.044 0.993 | 0.5095 [«
E#500kV 52 500 AR L oA EER (52 U50) 3 ey AT R 0. 487 6.327 | 2.9315 |IL. 2LZGHRER
EE500kV 52 500 AR 2L oA EER (52U50) 3 ey AT R 0. 487 6.327 | 2.9315 |#
EE500kV 52 500 e ARl HIRF LB (52 U50) 3 ey AT R 0.04 0. 781 0.401 [IL. 2LZ=HFFER
EE500kV 52 500 e AR 2L HiRF LB (52 U50) 3 ey AT R 0.04 0. 781 0.401 |~
EE500kV 52 500 AR 1L AR E B (52 U50) 3 ey AT R 0 0. 001 0 L. 2LZ=HERER
EE500kV 52 500 AR 2L HFTRE B (52 U50) 3 ey AT R 0 0. 001 0 "
E#500kV 58 500 REBHFHIL 75 5% B FR AT REELEER 0.105 4.446 | 2.5105 |IL. 2L%GHRER
E#500kV 58 500 REBEFHRIAL 75 3% BT REBLEEM 0.105 4.446 | 2.5105 |~
EE500kV 59 500 AR REBLEEM AL ER 0.129 3.258 1.644 |1L, 2L = GFFER
EE500kV 59 500 HARIR2L REBLEEM HEFBEER 0.129 3.258 1.644 | n
EE500kV 60 500 FETERIL HEFBEER AR E BT 0.048 1.483 | 1.0415 [IL. 2LZ=HFER
EE500kV 60 500 T E#R2L HEFBEER AR E B 0.048 1.483 | 1.0415 [n
EE500kV 62 500 HIRFERIL HIRFEEMN HEFBEER 0.19 4.718 2.426 |1L. 2LZ=HtRERA
EE500kV 62 500 HiRFE#R2L HIRFEEMN HEFBEER 0.19 4.718 2.426 |n
EE500kV 63 500 R ARRR 1L AR E B R XA 0.111 3.292 | 2.1415 |1L, 2LZHtRER
EE500kV 63 500 #RE AR #R 2L AR E B R XA 0.111 3.292 | 2.1415 |n
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EEBHRAVE—SF IR

(BE=HE]

EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

(1000MVAR—X)

EE#No. BE KV) EERB R (%) X () Y/2 (%)

E5500kV 70, 80 500 PR ERRIL 78 2% SRR AT HELEEM 0.477 | 16.596 | 9.645 |IL. 2LZGHRIEM
E#500kV 70 500 A E R IR2L 78 2% S BARA AT RILREERR 0. 351 13.489 | 7.965 |~
E#500kV 80 500 A E R IR2L RILBLE BT HELEEM 0.128 3.121 1.688 |n
EE500kV 72 500 HEEMRIL HRAEER 75 2% B FRA AT 0.028 0.914 | 0.5775 |IL. 2LZ=6tF:EMR
EE500kV 72 500 HEEMRL HRAEER 78 2% SRR A 0.028 0.914 | 0.5775 |#
EE500kV 73 500 75 ERERRIL 78 2% S BARA AT #HATRE B 0.456 | 11.319 | 6.174 |IL. 2LZGtREMR
EE500kV 73 500 7 EEEER2L 7% SRR AT HFTRE B 0.456 | 11.319 | 6.174 |»
EE500kV 74 500 FiramiL HRAEEHR #RE S BARA AR 0.213 6.3 4.0535 (1L, 2L=6+FER
EE500kV 74 500 #Firaimol HRAEEHR #RE S BRRA A 0.213 6.3 4.0535 |n
EE500kV 81 500 HERIMIL HERBLEMN HELEEM 0.109 2.69 1.4455 |1L, 2LZHtAER
EE500kV 81 500 HERIHRL HERBLEM HELEEM 0.109 2.69 1.4455 |n
EE500kV 84 500 S ERIL HMEELEN BRBLEM 0.168 4.18 2.1695 (1L, 2LZ=GtFER
EE500kV 84 500 EERL HMEELEN HERBLEM 0.168 4.18 2.1695 |[#
EE500kV 85 500 FRRSLHRIL X HMEELEN 0.148 4.474 | 3.0705 |IL. 2LZ=6fFEMR
EE500kV 85 500 FTRRSLHR2L R X HMEELEN 0.148 4.474 | 3.0705 |~
E&500kV 86 500 #ATIRERIL HATRE B (52 U%) # IR AR 0. 063 1.551 0.838 [IL. 2LZ=HFAER
E5500kV 86 500 AR IR 2L HARE B (53 U%) #FIR AR 0. 063 1. 551 0.838 |~
E5500kV 86 500 HATIRERIL HMEELEM (52 U5%) #FIR AR 0. 082 2.013 1.087 (1L, 2L=6tFHER
E5500kV 86 500 AR IR 2L HMEELEM (53 U%) #FIR AR 0. 082 2.013 1.087 |n
EE275kV 11 275 AIMERIL RINE B HEAKEN 0. 403 8.9 0.497 |1L. 2L=HFRER
EE275kV 11 275 I HR2L INE B HEAREER 0. 403 8.9 0.497 |n
EE275kV 26 275 EERIL BHEER BAREREERM 0.597 7.705 | 0.3885 |(IL. 2L#=GFER
EE275kV 26 275 izl BHEER BAREREERM 0.597 7.705 | 0.3885 |
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EBRSAVE—HFUR B4 (%) (1000MVAR—X)

(BEZFIE]
EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

EE#No. BE KV) EERB X[ R (%) X () Y/2 (%) " %=
EE275kV 36 275 JEFERIL BHEER (PI) L FER (FEHR) 0. 151 3.722 | 0.1595 [IL. 2LZ=6HtFER
EE275kV 36 275 b F IR BHEER (PI) L FER (FEHR) 0. 151 3.722 | 0.1595 |
EE275kV 36 275 JEFERIL (DI) L FER (FEHR) (%) L F IR (L) 0.136 3.35 0.1435 |(IL. 2LZ=6tFHER
EE275kV 36 275 b F IR (%) L FFER (FEPR) (%) L F IR (L) 0.136 3.35 0.1435 |n
EE275kV 36 275 JEFERIL (o) L F R (L) (D) L FER TERI) 0.074 1.824 0.078 |IL. 2L=GFRIER
EE275kV 36 275 b F IR (o) L F R (L) (D) L FER FERI) 0.074 1.824 0.078 |#

EE275kV 143 275 JEFFERIL (PIg) L FER FERI) HRELEM 0.182 4.487 | 0.1925 |1L. 2LZHfFER
EE275kV 143 275 b FZEHRIL (PIg) L FER FERI) HRELEM 0.182 4.487 | 0.1925 |#
EE275kV 55 275 B ERRR (L) 1L FEFT1002036 ERINEERR 4.823 | 38.251 | 0.745 |IL. 2L=GFRIER
EE275kV 55 275 PR ERRR (L) 2L FEFT1002036 ERINEER 4.823 | 38.251 | 0.745 |
EE275kV 56 275 HFE#IL £ E 1002039 £ E 1002036 1.405 | 11.201 | 0.219 [IL. 2LZ=6iFHER
EE275kV 56 275 HFE#R2L FEFT1002039 FERT1002040 0.559 4. 459 0.087 |#
EE275kV 56 275 HFE#R2L FEFT1002040 FERT1002036 1.05 8.374 | 0.1635 |~
EE275kV 57 275 BAREKRIL REELER FEfT1002039 4.797 | 34.454 | 0.896 |IL. 2L=GFRIER
EE275kV 57 275 BA R REELER FERT1002039 4.797 | 34.454 | 0.896 |~
EE275kV 66 275 R R ERR () 1L BERINEER R AREABART 5.449 | 35.863 | 0.852 |IL. 2L&=GFRIER
E53275kV 66 215 PR ERERR () 1L - ER#RIL K AR HRBEEN 4.019 | 24.594 | 0.756 |~
E53275kV 66 215 PR ERERR () 2L - EJR#R2L ERNEEBRR HRAEEN 4.35 34.621 | 0.807 |~

BB 154kV 5 154 K E#RIL EHEEBN #31 (57 Ik $K1%) 9. 66 49.91 [0.081557 |1L, 2LZ=HtREMR
BEE154kV 5 154 K E#R2L EHEER #31 (5l #X 1% 9. 66 49.91 |0.081557 |
BB 154KV 5 154 INRERTL INR #31 (57 Ik $K %) 0.01 0.05 0.0001 |IL. 2L=GFFER
BEE154kV 5 154 INRER2L MR #31 (57U #XIE) 0.01 0. 05 0.0001 |~
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EBRSAVE—HFUR B4 (%) (1000MVAR—X)

i3
il

(BEZFIE]
EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

EE R No. BE KV) EERB X[ R (%) X () Y/2 (%) " %=
BEE66KV 33 66 EAB/MRERIL INREEFR £ ARERARARR 39.24 | 115.57 [0.008939 |1L. 2LZ& GfRIER
BEE66KV 33 66 EAB/IMRER2L IMNREEBFR L AEFFR 39.24 | 115.57 (0.008939 |~
FEFH66KV 31 66 Fr &) 1R (RIBHER) 1L FNEEFT £ ARERARARR 90.25 | 204.08 (0.015034|1L. 2L=GFRER
FEE66KV 31 66 Fr @ 1R (RUBHER) 2L B)IEEBFR L AEFFR 90.25 | 204.08 (0.015034 |~
BEE66KV 67 66 JeiERRIL EHEER BRI 14.75 64.97 [0.005402 |1L. 2L%&HfFZER
BEE66KV 67 66 e #R2L EHEEBM B)IEEBFR 14.75 64.97 |0.005402 (
I 154kV 2 154 FEKF#RIL ARINLE B FEKFEEERN 1.09 12.97 | 0.04917 (1L, 2L%=GtFER
I 154kV 2 154 K F#R2L ARINLE B FEKFEEERN 1.09 12.97 | 0.04917 | n
ZIF154kV 4 154 FRRRIL HRREERN (57I%) SEA#R 3.12 46.27 | 0.10085 |1L. 2LZ=fHfFZER
ZIF154kV 4 154 FRARR2L HRREER (57U5) S RTHR 3.12 46.27 | 0.10085 |~
I 154kV 10 154 ARERIL FKFEEERN AREEERN 2.61 30.96 [ 0.11742 |1L. 2L % HfFER
I 154kV 10 154 AR #R2L FEKFEEERN AREEERNR 2. 61 30.96 | 0.11742 (n
R 154kV 11 154 okl AREEERNR (57I%) SEA#R 2.76 20.64 | 0.03868 |1L. 2LZ&ffFZER
R 154kV 11 154 Fiatx2l AREEERR (53U5) ST HR 2.76 20.64 | 0.03868 |~
ILI34154kV 4 154 HEERIL (TP =50y (5I%) REFA#R 0.32 4.8 0.01046 |1L, 2LZHtFAEM
ILI34154kV 4 154 B ER2L B EERT (57I%) REF#R 0.32 4.8 0.01046 |~
IIEL154kV 5 154 SRR () 1L IR E BT (i) RIS ER#R () 9.99 41.97 | 0.07239 |1L, 2LZHtRER
13154kV 5 154 SRR (Fh) 2L WE 30y (%) ISR () 9.99 41.97 | 0.07239 |~
IL1%4154kV 6 154 RERMRIL EEOREEH (5 I%) REFI#R 2.34 13.92 [0.023901 |1L. 22L& HFFRERA
I134154kV 6 154 REFMRIL EEOREEH (5U%) REFI#R 2.34 13.92 10.023901 | »
ILIEL154kV 7,9 154 HEHMR - RERFHIL FtEELEER/R ERBREEN 9.55 38.44 10.061796 [1L. 2L#=6tFER
ILIEL154kV 7,9 154 HEHMR - RERFRL FEELXE/R ERBREEN 9.55 38.44 [0.061796 |
IL1%4154kV 8 154 EE)IRIL FEELEERR (%) B{SERIR () 0.27 2.64 [0.005126 |1L. 2LxGFRERA
13154kV 8 154 EH)IHR2L FEELEERR (%) B{SERIR () 0.27 2.64 |0.005126 |~
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EBRSAVE—HFUR B4 (%) (1000MVAR—X)

i3
il

(BEZFIE]
EE#No. (&, RIFER- FERIRDON FERIOEERNIZBYES,

EE R No. BE KV) EERB X[ R (%) X () Y/2 (%) " %=
E2[E154kV 4 154 JLEEFRIL HELEEM (57i%) AL BE#R 2.3 27.43 | 0.1041 |1L. 2L%HtFEZER
E2[E154kV 4 154 JeEE#R2L HELEEM (5ri%) AL B4R 2.3 27.43 | 0.1041 |~

B8 154kV 4 154 JLERHRIL (57 I%) AL EE #R (5I%) B #R 0.94 11.09 0.042 |1L. 2L=HFRER
E2[E154kV 4 154 JELERHR2L (5ri%) AL B4R (57U%) B R 0.94 11.09 0.042 |

B4 154kV 8 154 HAHRIL AR ZER (5I) B #R 0.8 9.49 0.036 |IL. 2L=HFRER
E2[E154kV 8 154 HA#R2L ERREER (57U%) B R 0.8 9.49 0.036 |~

E#[E154kV 5 154 RELTHRIL WELTLEEM BRREERT 6.95 55. 47 0.104 |1L. 2L, 3L. 4LZ=HtRER
E&[E154kV 5 154 REL#RIL HELEEM BRREER 6. 95 55. 47 0.104 |

F8[E154kV 12 154 RELTHRIL WELTLEEM BRREER 6. 96 55.56 | 0.1041 |~

F2[E154kV 12 154 RELT#RAL HELEEM BRREER 6. 96 55.56 | 0.1041 |~

E#[E66KV 28 66 FABHR 1L HA LB B ZE BT 104.86 | 370.85 |0.031116 (1L, 2LZ=6+FER
E&[E166kV 28 66 FAMGHR2L HA LB TRREERR 83.05 [ 209.77 | 0.01643 |~

E#[E66KV 28 66 FAUBHHR2L TREEERR HABZE BT 23.82 | 163.63 |0.014895|~

E2[E166kV 30 66 RFEHRIL AR ZEEFT THZEERMR 51.03 | 190.97 [0.017772|1L. 2L=GFRER
E#RE66KV 30 66 R E Rl HABZE BT THZEEHR 51.03 [ 190.97 |0.017772|n

E&[E166KV 26 66 THEHRIL HHEZEEHR THEERM 49.16 | 168.65 |0.017478 (1L, 2L=G+FEH
E#[EI66KV 26 66 TH#R2L BHHEZEER THZEEMR 49.16 | 168.65 |0.017478 |~

E2[EI66KV 24 66 REFEMRIL HAEEM HHEZEER 33. 21 340.02 (0.021944 |1L, 2LZ&HtFEM
E#[EI66KV 24 66 RIFEHR2L HA LB BHHEZEER 33. 21 340.02 |0.021944 |
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